= AH O
N = 0 &8 AF S & Al A
20128 =A25 HEFIX SZ2ARFERLAILS LS A
A XIS IHe D
Hz: XNEHMEBAESH(AY - SAD|H/AY - SAT| UL
&2 s3XNRTEAMNS(sSARTLHAILELESH) (&2 &S
% = T | &FOH & E & (] AFH
SN A2 (SH) - MEAMY - BAS (Z = o) B HlwS2
Kl <o 2 247,715 1,117,000 869,285
NAATMELS} (MY - SATY/ ALY - SAD|H A 247,715 1,117,000 /869, 285
SEXNRAZTEANE (S2XRILSALESESIH) 247,715 1,117,000 869, 285
S22 XA 55,500 43,000 12,500
101 ol A H| 1,950 960 990
04 JI2ZtHN2Z2XNSEES 1,950 960 990
20l A 1,950 960 990
O IiedssHAl sHEYI
40,6202 * 29 * 122 * 20 & 1,950
201 2ErE9H| 12,050 4,040 8,010
01 AtR2t2ldl 800 800 0
20l A 800 800 0
O 2etx=gH| 800
— SWAA 800,000 800
02 2229H| 11,250 3,240 8,010
= 0l & 11,250 3,240 8,010
O 2222 2 AMA 9,730
— SWAY 1,740,000 1,740
— Z2=TOI| J|HA "MIAERR
574,450 « 12& 6,894
— 2=z MDA 22|h]
91,3002 * 122 1,096
O A& &HISX b 1,520
— SYH A 1,520,000& 1,520
202  OdHl 1,000 1,000 0
01 2UW0oibl 1,000 1,000 0
= 0l & 1,000 1,000 0
O SHAH A 1,000,000 1,000
301 E8AZ 2,000 2,000 0
10 SAIAHIEAZ 2,000 2,000 0
20l A 2,000 2,000 0
O IlEsSCA 42 HASEI L
3| O & A 200,000 * 5OHSA A * 13 1,000
O ItH=s2CX HEXS 2tE3 W=l
500,000 * 2JHH & * 15 1,000
402 QIR E201H 38,500 35,000 3,500
01 2IZtEE=x 38,500 35,000 3,500
20l A 35,000 35,000 0




SA

NE-P =t

B (O AMEABH (MY - EAI|Q/AY - TAI QU
9l SR PELANS (SBURELALSHIH) (cHel i el)
l:!A_I I'IiH.l:|-0|(;|j:“) k”lzl |.O-| . HASZ lﬁ% @EEO:”/L“LH t”ﬂle-
O =38 2=H3 EZX AIAY
70,000,000 * 1JH4 = 50/100 35,000
=Z13l ( 38,500)| ( 35,000)] ( 3,500)
O s3%X W MHH XSHEAIA
3,500,000 * 12| ( 3,500)| ( 0)] ( 3,500)
oll gl bl 192,215 0 192,215
801 dlgldl 192,215 0 192,215
01 0Oilglgl 192,215 0 192,215
=313 ( 192,215)| ( 0)] ( 192,215)
O ol gl bl 192,215,000€ | ( 192,215)| ( 0)] ( 192,215)




